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Question Number : 1 Question Id : 6801916377 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The ephors were a board of five magistrates in ancient sparta. Which of the following were the

role of ephors?

A. Ensure that king acts i accordance with law.
B. Discouraged physical activity.
C. Invasion of Roman Empire
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0

1
680191153
Yes

null

D. Extensive range of judical and legislative powers to shape sparta.

E. sparta's Home and foreign Affairs.
Choose the correct answer from the options given below:

1.B.CD. only

2. ADE. only
3.D.AB. only
4. B.C.E. only

Options :

68019125001. 1
68019125002. 2
68019125003. 3

68019125004. 4



Question Number : 1 Question Id : 6801916377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. $ad ADE
3. HAdDAB
4, $ad B.CE

Options :

68019125001. 1
68019125002. 2
68019125003. 3

68019125004. 4

Question Number : 2 Question Id : 6801916378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From which of the following mountain the spartans used to dispose of 'imperfect’ or weak
babies?

1. Pindus Mountain Range
2. Rhodope Mountain Range
3. Mount Taygetos

4. Mount Olympus

Options :

68019125005. 1



68019125006. 2
68019125007. 3

68019125008. 4

Question Number : 2 Question Id : 6801916378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019125005. 1
68019125006. 2
68019125007. 3

68019125008. 4

Question Number : 3 Question Id : 6801916379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following sport was not practiced in ancient Rome?

1. Chariot Racing

2. Gladiatorial Combat
3. Swimming

4, Javelin Racing

Options :

680191250009. 1
68019125010. 2
68019125011. 3

68019125012. 4



Question Number : 3 Question Id : 6801916379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

680191250009. 1
68019125010. 2
68019125011. 3
68019125012. 4

Question Number : 4 Question Id : 6801916380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which philosophy of education emphaszies the importance of learning through practical
experiences and activities. encouraging students to iteract with their enviroment?

1. Idealism

2. Pragmatism

3. Existentiatism
4. Perenmialism

Options :

68019125013. 1
68019125014. 2
68019125015. 3

68019125016. 4

Question Number : 4 Question Id : 6801916380 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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3. Hi&darg
4. Tddiq
Options :

68019125013. 1
68019125014. 2
68019125015. 3

68019125016. 4

Question Number : 5 Question Id : 6801916381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following philosophy believes in only two values which are routed in existence:
persons and the moral imperative?

1. Idealism

2. Pragmatism
3. Naturalism
4. Realism

Options :

68019125017. 1
68019125018. 2
68019125019. 3

68019125020. 4

Question Number : 5 Question Id : 6801916381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68019125017. 1
68019125018. 2
68019125019. 3
68019125020. 4

Question Number : 6 Question Id : 6801916382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following philosopher is associated with idealism?

1. Henry David Thoreau
2. Charles Darwin

3. William James

4. Plato

Options :

68019125021. 1
68019125022. 2
68019125023. 3
68019125024. 4

Question Number : 6 Question Id : 6801916382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019125021. 1
68019125022. 2
68019125023. 3
68019125024. 4

Question Number : 7 Question Id : 6801916383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which Theory of Play emphasizes the role of play in aiding a child's cognitive development?

1. Psycho-Analytic Theory

2. Social Learning Theory

3. Cognitive Development Theory
4. Ecological Systems Theory

Options :

68019125025. 1
68019125026. 2
68019125027. 3

68019125028. 4

Question Number : 7 Question Id : 6801916383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019125025. 1
68019125026. 2
68019125027. 3

68019125028. 4

Question Number : 8 Question Id : 6801916384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

On the basis of innate and learned behaviors in respect of motor skill learning, arrange the stages
of development in ascending order.

A, Mastery over specialized movement

B. Progression from simple reflexes to basic movement
C. Movement skills become more fluid and automatic
D. Learn more complex motor patterns.

Choose the correct answer from the options given below:

1.CDBA
2.D.BAC
3 BD.CA
4 BDAC

Options :

68019125029. 1
68019125030. 2
68019125031. 3

68019125032. 4

Question Number : 8 Question Id : 6801916384 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1.CDBA
2.DBAC
3.B.D.CA
4 BDAC

Options :

680191250209. 1
68019125030. 2
68019125031. 3

68019125032. 4

Question Number : 9 Question Id : 6801916385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following approach of Personality is described as "unique and stable characterstics
of an individual" ?

1. Type Approach

2. Trait Approach

3. Psycho-Analytic Approach
4. Humanistic Approach

Options :
68019125033. 1
68019125034. 2

68019125035. 3



68019125036. 4

Question Number : 9 Question Id : 6801916385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019125033. 1
68019125034. 2
68019125035. 3
68019125036. 4

Question Number : 10 Question Id : 6801916386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following best describes the role of physical education in socialization?

1. It primarily focuses on individual skill development. excluding social interaction
2. Physical education is irrelevant to the process of socialization

3. It develops team work. cooperation and communication among peers

4. Socialization in physical education is limited to competitive aspects only

Options:

68019125037. 1
68019125038. 2
68019125039. 3

68019125040. 4



Question Number : 10 Question Id : 6801916386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019125037. 1
68019125038. 2
68019125039. 3
68019125040. 4

Question Number : 11 Question Id : 6801916387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In Sociologieal perspective. When two or more people work together towards the same end, 1t 1
referred i as:

1. Competition
2. Cooperation
3. Trait

4, Leadership

Options:

68019125041. 1
68019125042. 2
68019125043. 3

68019125044. 4

Question Number : 11 Question Id : 6801916387 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:
68019125041. 1
68019125042. 2
68019125043. 3

68019125044. 4

Question Number : 12 Question Id : 6801916388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

According to Social Identity Theory (SIT). social groups that an individual belongs to or
identifies with are referred as:

. Out-Group

. In-Group

. Common Group
4. Sub-Group

=

LS}

Options :

68019125045. 1
68019125046. 2
68019125047. 3

68019125048. 4

Question Number : 12 Question Id : 6801916388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68019125045. 1
68019125046. 2
68019125047. 3

68019125048. 4

Question Number : 13 Question Id : 6801916389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The process of learning about one's culture is referred as?

1. Socialization
2. Collectivism
3. Adulteration
4. Enculturation

Options :

68019125049. 1
68019125050. 2
68019125051. 3

68019125052. 4

Question Number : 13 Question Id : 6801916389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019125049. 1
68019125050. 2
68019125051. 3

68019125052. 4

Question Number : 14 Question Id : 6801916390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following steps of digestion process in the body in a sequential order.

A waste are removed from the body

B. food iz liquified and digested into the froms that cell can are.
C. food 1s broken into smaller pieces.

D. water 18 absorbed

E. Nutrients pass through the blood stream

Choose the correct answer from the options given below:

1. C.B.ED.A
2 CBDEA
3:B.CDEA
4. B.D.CEA

Options :

68019125053. 1
68019125054. 2
68019125055. 3
68019125056. 4

Question Number : 14 Question Id : 6801916390 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019125053. 1
68019125054. 2
68019125055. 3

68019125056. 4

Question Number : 15 Question Id : 6801916391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

With specific reference to the management of common sports injuries, arrange the following
steps 1n a sequential order.

A Elevate the injured part

B. Give rest to the injured part

C. Protect the injured person

D. Wrap the injured area with an elastic bandage
E. Apply Ice for 15-20 mimnutes

Choose the correct answer from the options given below:

LEBEDA
2.CEDAB
3:EABCD
4. ACBED

Options:



68019125057. 1
68019125058. 2
68019125059. 3

68019125060. 4

Question Number : 15 Question Id : 6801916391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1L.CBEDA
2 CEDARB
3.EAB.CD
4 ACBED

Options :

68019125057. 1
68019125058. 2
68019125059. 3

68019125060. 4

Question Number : 16 Question Id : 6801916392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The term 'Oedema’ 15 associated with:

1. Low blood volume

2. Excess tissue flud

3. Slow blood flow

4. An electrolyte imbalance

Options :

68019125061. 1
68019125062. 2
68019125063. 3

68019125064. 4

Question Number : 16 Question Id : 6801916392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019125061. 1
68019125062. 2
68019125063. 3

68019125064. 4

Question Number : 17 Question Id : 6801916393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statement best defines a communicable disease?

1. A digease that only affects a specific age groups with in a population

2. A disease that can be spread from person to person or from animal to people

3. A disease that 1s caused by genetics and cannot be transmitted between mdividuals

4. A disease that primarily spreads through environmental factors and not through direct
contact

Options :

68019125065. 1
68019125066. 2
68019125067. 3

68019125068. 4

Question Number : 17 Question Id : 6801916393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019125065. 1
68019125066. 2
68019125067. 3

68019125068. 4

Question Number : 18 Question Id : 6801916394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Riboflavin 1s a chemical name of:

1.B,

2.B,

4. Byp
Options :
68019125069. 1
68019125070. 2
68019125071. 3

68019125072. 4

Question Number : 18 Question Id : 6801916394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019125069. 1
68019125070. 2
68019125071. 3

68019125072. 4

Question Number : 19 Question Id : 6801916395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the type of carbohydrate 1s the simplest form of glucose?

1. Monosaccharides
2. Disaccharides

3. Polysaccharides
4. Multisaccharides

Options :

68019125073. 1
68019125074. 2
68019125075. 3

68019125076. 4

Question Number : 19 Question Id : 6801916395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019125073. 1
68019125074. 2
68019125075 3

68019125076. 4

Question Number : 20 Question Id : 6801916396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



What 1s a full form of PN.F?

. Proprioaptive Neuro Facilities

. Propritive Neuro-muscular Facilitation

3. Proprioceptive Neuro Facilitation

. Proprioceptive Neuro-muscular Facilitation

| R

s

Options :

68019125077. 1
68019125078. 2
68019125079. 3

68019125080. 4

Question Number : 20 Question Id : 6801916396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019125077. 1
68019125078. 2
68019125079. 3

68019125080. 4

Question Number : 21 Question Id : 6801916397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s correct meaning of Swedish word 'fartlek'?

. Continuous Play
. Pace play

3. Speed play

4. Internal Play

| R

Options :

68019125081. 1
68019125082. 2
68019125083. 3

68019125084. 4

Question Number : 21 Question Id : 6801916397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. R
2. U
3.4 ™
4. IRE
Options :

68019125081. 1
68019125082. 2
68019125083. 3

68019125084. 4

Question Number : 22 Question Id : 6801916398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Exercise should be the major component of obesity treatment. By which of the following

mechanism, exercise may produce reduction in adiposity?

(A). Increased lipid oxidation

(B). Increased resting metabolic rate

(C). Increased preference for fat

(D). Increased lean tissue deposition

(E). Decreased resting metabolic rate

Choose the correct answer from the options given below:

.(A). (B) and (D) only.
.(A). (D) and (E) only.
3.(A).(C) and (D) only.
4.(A). (B) and (C) only.
Options :
68019125085. 1
68019125086. 2
68019125087. 3

68019125088. 4

Question Number : 22 Question Id : 6801916398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST, R & SUER 1 YT UeH G difgd | S o fafeiad 7 9 fobet wicharait
Wwﬁfmﬂaﬂﬂﬁ%
A). feilUs siladioRo | gig
( ). faym o R A gig
(C). T folu AiEdT H gl
(D). PN & (Feiei Iip) H gfg;
(

E). [a%m™ qud9g R H g

9 Ry e R 33 Tl SR

5952
EEE

B) 9l (D)
D) SR (E)
) 9k (D)
)8R (C)

I-\_.'I I—l

A
A). (C

B

.l_..li_.u
rJ:-

(A). (
(A). (
{4
4. (A). (
Options :

68019125085. 1

68019125086. 2



68019125087. 3
68019125088. 4

Question Number : 23 Question Id : 6801916399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ability of a muscle to overcome maximum resistance in a single repetition is referred as:

1. Explosive Strength
2. Strength Endurance
3. Maximal Strength
4. Isometric

Options:

68019125089. 1
68019125090. 2
68019125091. 3
68019125092. 4

Question Number : 23 Question Id : 6801916399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U TRIGRT H Sfpan iRy Bf g $3 & ot U Higusil &t &mdl o1 39 YR
efa o o &

1. faupies gidd
2. g wfdd

3. Hgad Yfdd
4. qHOIHS

Options :

68019125089. 1
68019125090. 2
68019125091. 3
68019125092. 4



Question Number : 24 Question Id : 6801916400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During common sports injuries which of the following tendons are affected?

A. Medial epicondylitis

B. Band of collagen tissue

C. Lateral epicondylitis

D. Anterior cruciate ligament
E. Achillies tendonitis

Choose the correct answer from the options given below:

1. A.B.D only
2. B.E.C only
3. A.C.E only
4. C.D.E only

Options :

68019125093. 1
68019125094. 2
68019125095. 3
68019125096. 4

Question Number : 24 Question Id : 6801916400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



79 T 9 &1 91 HUSIIT W dici & aRE WHIfdd gidi 52
A. THIfgTd Uil aged

B. ®Idgod GHdd Bl 6y
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E. Ufciisl ¢S5 ey

= ST U fad el § I Tgl 3R &1 994 Bl :

1. %dd ABD
2. $dd B.E.C
3.%dd A.C.E
4. %dd C.D.E

Options :

68019125093. 1
68019125094. 2
68019125095. 3

68019125096. 4

Question Number : 25 Question Id : 6801916401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An imagery verticle surface through which movement takes place which divides the body nto
right and left parts s referred as:

1. Sagittal Plane
2. Frontal plane
3. Transverse plane
4. Horizontal plane

Options:

68019125097. 1
68019125098. 2
68019125099. 3

68019125100. 4

Question Number : 25 Question Id : 6801916401 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TS TIedd S UF 5, off TR P1 a1 AR a1 Wi & fauTford avar & aur forgds arem 9
Tfear Bt 6. Heamd o-

1. gafandt aa
2. 3@ dd

3. SR T
4, Bfdw ad

Options :

68019125097. 1
68019125098. 2
68019125099. 3

68019125100. 4

Question Number : 26 Question Id : 6801916402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST1 LISTII
A |Flat Foot I. |Genu Valgum
B. |Bow legs II. |Pes Planus
C. |Knock Knees | IIL |Lordosis
D. |Sway Back IV. |Genu Varum

Choose the correct answer from the options given below:

1. A-IL.B-IV.C-I.D-III
2. A-LB-III.C-IV.D-II
3. A-IILB-1.C-IV.D-II
4. A-IV.B-II.C-III.D-I

Options :
68019125101. 1
68019125102. 2

68019125103. 3



68019125104. 4

Question Number : 26 Question Id : 6801916402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 Al 11 ¥ e Sifeu

I gE I
A |dUertiq L [sHaam
B. |4UIBR <Rl 11 |39 &9
C. [gedeatH ey | 1L [erSiRm
D. [@aS 3R &1 3R (H.dd)| V. [SH RH

Fafeiad [deedl § U 9ol 3T &1 994 S ;

1. A-II.B-IV.C-I.D-III
2. A-L.B-III.C-IV.D-II
 A-IILB-1.C-IV.D-II
4. A-IV.B-II.C-III.D-I

L]

Options :

68019125101. 1
68019125102. 2
68019125103.3
68019125104. 4

Question Number : 27 Question Id : 6801916403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which section of a research report typically provides a summary of the research objectives.
methodology and key finding?

1. Introduction

2. Literature Review
3. Methodology

4. Conclusion

Options :



68019125105. 1
68019125106. 2
68019125107. 3

68019125108. 4

Question Number : 27 Question Id : 6801916403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

STY Widde 1 DI 1 WS 39 AR W SFHYH Szl BRIV HR W Syl &1
RIS FEH el 82

1. 9=y

2. TIigw T
3. SR
4, fea

Options:
68019125105. 1
68019125106. 2

68019125107. 3

68019125108. 4

Question Number : 28 Question Id : 6801916404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the primary purpose of delimiting the sample in research?

1. To increase the generalizability of findings
2. To exclude certamn elements from the study
3. To enhance the complexity of the research design
4. To minimize the impact of confounding variables

Options:
680191251009. 1

68019125110. 2



68019125111. 3
68019125112. 4

Question Number : 28 Question Id : 6801916404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

QY T 91 1 uRET B34 &1 Wiyl Sevg |12

1. Frem et ot graiteufodr & g
2. AT H DS dcdl DI T HAT
3. 3HY U=U &I Sicdd &I 9gH]
4. Y =9 & GHIG DI HH DA

Options :

68019125109. 1
68019125110. 2
68019125111. 3

68019125112. 4

Question Number : 29 Question Id : 6801916405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which 1s not a criteria in selecting a problem in research?

1. Interest

2. Feasibility

3. Prejudice

4. Tools and Techniques

Options :

68019125113. 1
68019125114. 2
68019125115. 3

68019125116. 4



Question Number : 29 Question Id : 6801916405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

9 0 9 51 91, S EYHE T 0" & 999 BT IH4S T8 67
1.3

2. Tl
3. gaug

4. IUHION 3R TH1a5
Options :

68019125113. 1
68019125114. 2
68019125115. 3
68019125116. 4

Question Number : 30 Question Id : 6801916406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s a method of probability sampling?

. Stratified sampling

. Quota sampling

3. Convenience sampling
4. Purposive sampling

| R

Options :

68019125117. 1
68019125118. 2
68019125119. 3

68019125120. 4

Question Number : 30 Question Id : 6801916406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

faffad o 9 14 T SnTed] TSR 61 U fafd 2
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Options :

1
2
3

68019125117.1
68019125118. 2
68019125119. 3

68019125120. 4

Question Number : 31 Question Id : 6801916407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Pull-Ups (Bovs), flexed arm Explosive strength of
A g L
hang for girls legs
B. |Standing Broad Jump I1. e
Strength
¢ |shuttie Run i Muscular Strength and
Endurance
D. |50 vard Dash IV. | Speed and agility

Choose the correct answer from the options given below:

A-ILB-ILC-IV.D-I
. A-II.B-IV.C-1.D-III
A-ITLB-LC-IV.D-II
4. A-L.B-III.C-II.D-IV

2 =

L]

Options :

68019125121. 1
68019125122. 2
68019125123.3
68019125124. 4



Question Number : 31 Question Id : 6801916407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! 1 1 i 11 ¥ e ifey

T I T 1

A |33 @81 & ) WS | | | @ fawsied
B. [@3l.$g I1. |71fd @ faepled Qg
; AUl &1 wfdd
C. [Feass L | e

D. | 50 5 & IV. |71fd d TOedr
frafafad fae el O 9 981 IR &1 997 S ;

1. A-IILB-ILC-IV.D-I

. A-II.B-IV.C-1.D-III
CA-IILB-1LLC-IV.D-II
4. A-I.B-III.C-II.D-IV

L]

Options :

68019125121. 1
68019125122. 2
68019125123.3

68019125124. 4

Question Number : 32 Question Id : 6801916408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following assessments is specifically designed to measure flexibility?

1. 40-Yard dash
2. Vertical jump
3. Sit and reach
4. 1-Repetition Maximum (1RM)

Options :

68019125125. 1



68019125126. 2
68019125127. 3

68019125128. 4

Question Number : 32 Question Id : 6801916408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafaa § € ©F O sfide- 029 0 T giey- &f 3194 & o §9m g

1. 40-0TS 89
2. gfcpa o
3. e wsi
4, 1-'GRIGI {fa (13RH)

Options :

68019125125. 1
68019125126. 2
68019125127. 3

68019125128. 4

Question Number : 33 Question Id : 6801916409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A test if 1t measures what 1t was meant for. refers towards:

. Validity of test

. Reliability of test

. Objectivity of test
4. Subjectivity of test

|

L]

Options :

68019125129. 1
68019125130. 2
68019125131. 3
68019125132. 4



Question Number : 33 Question Id : 6801916409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@I geI&U1 uf 98 Aradr . forgds fore a=man mar o1, di g &t 9efifd s 2

1. TRI&0T 1 Gl

2. TRI&01 &1 Gy
3. TI&(U BT FEIE
4. T1& Bt fowiafgan

Options :

68019125129. 1
68019125130. 2
68019125131. 3
68019125132. 4

Question Number : 34 Question Id : 6801916410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

How many matches will be played m a tournament where 19 teams will participate? Tournament
will be of knockout cum league in which league will start from semi finals.

JiE
18
21
4.19

Options:

s b2 —

68019125133. 1
68019125134. 2
68019125135. 3

68019125136. 4

Question Number : 34 Question Id : 6801916410 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U e § oo o9 W ae afg 289 10 & Y ol TiHe Sidbsge-He-aim &
BT foree ST YHTTg e 9 = gt

A5
.18
2
4.19

Options :

s b2 —

68019125133.1
68019125134. 2
68019125135. 3

68019125136. 4

Question Number : 35 Question Id : 6801916411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Marketing committee of organising sports event covers following aspects except:

. Telecast of event

. MOUss

. Check remuneration of officials

4. Manages method of communication

| I

(%]

Options :

68019125137. 1
68019125138. 2
68019125139. 3

68019125140. 4

Question Number : 35 Question Id : 6801916411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G Mo @t faquH i, e & sifafvaa 9aft veqsh & afifE axdi ®

1. BHH B YR
2. T3,
3. ANPHING & URYED DI 9"
4, I9R B! [ald 1 Jaeq
Options :
68019125137. 1
68019125138. 2
68019125139. 3

68019125140. 4

Question Number : 36 Question Id : 6801916412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not an objective of Intramural?

1. Mass participation
2. Recreation
3. Health

4. High Performance
Options :
68019125141. 1
68019125142, 2
68019125143. 3
68019125144. 4

Question Number : 36 Question Id : 6801916412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



frafafad & 9 &F 91 o URER &1 3530 T8l 82
1. SAHTER]
2. THIfaIE
3.9y
4. T UL
Options :
68019125141. 1
68019125142, 2
68019125143. 3

68019125144. 4

Question Number : 37 Question Id : 6801916413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Total number of medals won by India in 35M Asian Games Hangzhou were:

1. 108
. 107
3. 117
4. 109

Options :

68019125145. 1
68019125146. 2
68019125147.3

68019125148. 4

Question Number : 37 Question Id : 6801916413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SIS, | el U 35 d URITS Wal 3 YRd gRI S 710 Uedi &) o e a1 4

. 108
107
117
4. 109

Options:

faa a3 —

68019125145. 1
68019125146. 2
68019125147. 3
68019125148. 4

Question Number : 38 Question Id : 6801916414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
How many Gold medal won by India in Hangzhou Asian Games?
27
.28
. 29
4. 30
Options :

|

L]

68019125149. 1
68019125150. 2
68019125151. 3
68019125152. 4

Question Number : 38 Question Id : 6801916414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

BITSIS URMTE ©dl 8§ YRd A fdbd- @l uge Gild?
27

.28

.29

.30

= =

e



Options :

68019125149. 1
68019125150. 2
68019125151.3
68019125152. 4

Question Number : 39 Question Id : 6801916415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which state hosted 'Khelo India University Games 2023'?

1. Odisha

2. Karnataka

3. Uttar Pradesh
4. Manipur

Options :

68019125153. 1
68019125154. 2
68019125155. 3

68019125156. 4

Question Number : 39 Question Id : 6801916415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Rddll siedr [ayfderey W 2023 foog sy ¥ sifsrd fau mee

Options :
68019125153. 1

68019125154. 2



68019125155. 3
68019125156. 4

Question Number : 40 Question Id : 6801916416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following grand slam tournament played on grass?

. French open

. Australian open
3. Wimbeldon

4. US open

| R

Options :

68019125157. 1
68019125158. 2
68019125159. 3

68019125160. 4

Question Number : 40 Question Id : 6801916416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Frafaiad @ 9 oF 91 3S Wi eHiHe 9™ IR Edl T/

1. % 3{Iud

2. JTEferad 3
3. foraes

4. 909 397

Options :

68019125157. 1
68019125158. 2
68019125159. 3

68019125160. 4



Question Number : 41 Question Id : 6801916417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following event is not organised in swimming?

. 50m Freestyle

. 50m Relay

. 50m Breast Stoke
4. 50m Back Stoke

Options:

I =

Taa

68019125161. 1
68019125162. 2
68019125163. 3
68019125164. 4

Question Number : 41 Question Id : 6801916417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFrafaRad & | Bl HiagiRTdr, aRre] # maiferd 181 &1 Sl 82

1. 50 Hiex hiesd
2. 50 He

3. 50 e s €I
4. 50 Hiex 9 KD

Options :

68019125161. 1
68019125162. 2
68019125163. 3
68019125164. 4

Question Number : 42 Question Id : 6801916418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

What is a radius of center circle in basketball court?

1. 1.80m
2. 3.60m
3. 1.60m
4. 3.20m

Options :

68019125165. 1
68019125166. 2
68019125167. 3

68019125168. 4

Question Number : 42 Question Id : 6801916418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

SRedld dIc H 5L g DI [HAsa] F1 82

.1.80 HieX
.3.60 HieX
. 1.60 HieX
4.3.20 Hicx

Options :

faa b2 =

68019125165. 1
68019125166. 2
68019125167. 3
68019125168. 4

Question Number : 43 Question Id : 6801916419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST1 LIST II
A INCTE I. |1961
B. |[UGC II. 1984
C. IN.LS.(Patiala) |IIL [1995
D. |SAI IV. |1953

Choose the correct answer from the options given below:

1. A-ITIL.B-L.C-IV.D-II
2. A-IV.B-II.C-III.D-I
3. A-LB-III.C-IV.D-II
4. A-IIL.B-IV.C-I.D-II

Options :

68019125169. 1
68019125170. 2
68019125171. 3

68019125172. 4

Question Number : 43 Question Id : 6801916419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 Al 11 ¥ e Sifeu
LIST I GElbll

N.C.TE I |1961
UGC IL. {1984
NS (afegramn| I [ 1995
SAI IV, [1933

Foafeiad [deedl 3 9ol 3O &1 994 B ;

 A-ILB-I,C-IV.D-II
- A-IV.B-IL.C-II1.D-I
. A-LB-TIL.C-IV.D-II
4. A-IIL.B-IV.C-I.D-II

=

glo|w

b =

L]

Options:
68019125169. 1

68019125170. 2



68019125171. 3
68019125172. 4

Question Number : 44 Question Id : 6801916420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who was the First President of Indian Olympic Association?

1. Dr. A.G. Noehren
2. Sir Dorabj: Tata

3. H.C. Buck

4. Raja Randhir Sigh

Options :

68019125173. 1
68019125174. 2
68019125175. 3

68019125176. 4

Question Number : 44 Question Id : 6801916420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RGO 3Mafts 99 & Ugd e HIF 47

CBLU S ARA
IR SRIESI! Tel
9. 41§56

4. a7 o i

Options:

L N R

68019125173. 1
68019125174. 2
68019125175. 3
68019125176. 4



Question Number : 45 Question Id : 6801916421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which city hosted the First Khelo India Para Games 2023 (KIPG) in India?

. Bangalore
. Dells

3. Mumbai
4. Lucknow

Options:

= =

68019125177.1
68019125178. 2
68019125179. 3
68019125180. 4

Question Number : 45 Question Id : 6801916421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g WER 3 HRA & UYH Tl SiSar U1 7199 2023 (&.3075. 91 51.) BT Toldrt oi?
1. S§TAR

2. et
3. 49%
4. TETS

Options :

68019125177. 1
68019125178. 2
68019125179. 3

68019125180. 4

Question Number : 46 Question Id : 6801916422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Arrange the following event according to the daywise schedule of ancient olympic games:
(A). Foot race, Wrestling and Boxing

(B). Sacrifice and oath

(C). Three foot race

(D). March past

(E). Celebration through feasting and 1&_]0101112

Choose the correct answer from the options grven below:

Options:

68019125181. 1
68019125182. 2
68019125183.3
68019125184. 4

Question Number : 46 Question Id : 6801916422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019125181. 1

68019125182. 2



68019125183. 3
68019125184. 4

Question Number : 47 Question Id : 6801916423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following steps in the correct sequence for learning a new motor skill:

(A). Refinement of technique
(B). Understading the task
(C). Recieving feedback

(D). Repetition and practice
(E). Mental visualization

Choose the correct answer from the options given below:

1. (B). (E). (D). (C). (A).
2. (E). (B). (C). (D). (A).
3. (B). (E). (D). (A). (C).
4. (E). (B). (D). (A). (C).

Options :

68019125185. 1
68019125186. 2
68019125187. 3

68019125188. 4

Question Number : 47 Question Id : 6801916423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



®Is 901 MG HIYd Yka- & e Hefafad 9wl o ge! oF J srafud &

(A). dP-P H JUR
(B). BT I GHSHI
(C). TP Ured ST

(D). GRIGR 3R 320
(E). RS EPTEA

3 g o et 7 @ 9l SR

1. (B), (E). (D). (C). (A).
2. (E). (B). (C). (D). (A).
3. (B). (E). (D). (A). (C).
4. (E). (B). (D). (A). (C).

Options :

68019125185. 1
68019125186. 2
68019125187. 3

68019125188. 4

Question Number : 48 Question Id : 6801916424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps involved in socialization through sports in the sequential order:

(A). Celebrating victories and learning from defeats

(B). Development of a sense of belonging and identity with the team
(C). Building communication and leadership skills

(D). Engaging in off-ficld activities or team building exercise

(E). Adhering to the principles of sports ethics and mtegrity

Choose the correct answer from the options given below:

1. (B). (E). (C). (A). (D).
2. (E). (B). (D). (A). (C).
3. (E). (B). (D). (C). (A).
4. (B). (E). (C). (D). (A).

Options:
68019125189. 1

68019125190. 2



68019125191. 3
68019125192. 4

Question Number : 48 Question Id : 6801916424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019125189. 1
68019125190. 2
68019125191.3

68019125192. 4

Question Number : 49 Question Id : 6801916425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



During blood circulation. the heart muscle contracts and the impure blood passes through the
heart and lungs then purified blood flows through a sequential process of:

(A). Blood passes into left ventricle

(B). Blood finds its way into left atrium

(C). Blood finds its way into lungs

(D). Blood passes mto IlEh’[ ventricle

(E). Discharges blood into various arteries and capillaries

Choose the correct sequence from the options given below:

(C). (B). (E)
(B). (C). (E
(AfB}()
(B). (A). (E).
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Options :

68019125193. 1
68019125194. 2
68019125195. 3

68019125196. 4

Question Number : 49 Question Id : 6801916425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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68019125193. 1



68019125194. 2
68019125195. 3

68019125196. 4

Question Number : 50 Question Id : 6801916426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following training cycles as per their duration in descending order:

(A). Meso cyele
(B). Micro cycle
(C). Macro cycle
(D). Olympie cycle
(E). Session

Choose the correct answer from the options given below:

(). (D). (A). (B). (E).
.(D). (C). (A). (B). (E).
.(D). (C). (B). (A). (E).
4. (C). (A). (D). (E). (B).

fad b2 —

Options :

68019125197. 1
68019125198. 2
68019125199. 3
68019125200. 4

Question Number : 50 Question Id : 6801916426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafaRad Wi 9l Bl 3! 3altl & IR faRIg! Y H aieyd dy:
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(C). deg dP
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A2 R e faped & @ OE SR

1. (C). (D). (A). (B). (E).
2. (D). (C). (A). (B). (E).
. (D). (C). (B). (A). (E).
(C). (A), (D). (E). (B).

e s

Options :

68019125197. 1
68019125198. 2
68019125199. 3

68019125200. 4

Question Number : 51 Question Id : 6801916427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

"A players. who applies more force and tosses the shot-put at the correct angle has a greater
displacement of the shot-put, whereas a player who exerts less force has a lesser displace-ment
of shot-put." which of the following Law is applicable in the above statement?

1. Law of Acceleration
2. Law of Inertia

3. Law of Gravity

4. Law of Reaction

Options:

68019125201. 1
68019125202. 2
68019125203. 3
68019125204. 4

Question Number : 51 Question Id : 6801916427 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019125201. 1
68019125202. 2
68019125203. 3

68019125204. 4

Question Number : 52 Question Id : 6801916428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following steps in the sequence of conducting a scientific research:

(A). Formulate a hypothesis
(B). Collection of data

(C). Analyzing result

(D). Design of research

(E). Draw conclusion

Choose the correct answer from the options given below:

. (A). (D). (C). (B). (E).
.(A), (D). (B). (C). (E).
. (D). (A). (B). (C). (E).
4. (D). (A), (C). (B). (E).

fagd b2 —

Options :
68019125205. 1
68019125206. 2

68019125207. 3



68019125208. 4

Question Number : 52 Question Id : 6801916428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A). (D). (C). (B). (E).
_(A). (D). (B). (C). (E).
.(D). (A). (B). (C). (E).
4. (D). (A). (C). (B). (E).
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Options:

68019125205. 1
68019125206. 2
68019125207. 3
68019125208. 4

Question Number : 53 Question Id : 6801916429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following functions of sports event management 1s a sequential order.

(A). Organising
(B). Coordinating
(C). Planning

(D). Statfing

(E). Directing

Choose the correct answer from the options given below:

1. (Q). (E). (D). (B). (A).
2. (C). (A), (D). (B). (E).
3. (C). (D). (A). (B). (E).
4. (). (B). (A). (D). (E).

Options:

68019125209. 1
68019125210. 2
68019125211.3
68019125212. 4

Question Number : 53 Question Id : 6801916429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (C). (E). (D). (B). (A).
2.(C). (A). (D). (B). (E).
3.(C). (D). (A). (B). (E).
4. (C). (B). (A). (D). (E).

Options:
680191252009. 1

68019125210. 2



68019125211. 3
68019125212. 4

Question Number : 54 Question Id : 6801916430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

After the first Modern Olymic Games i 1896 at Athens. the successive olympic games where
hosted by various cities. place the host cities in chronological year of hosting:

(A). St Louis
(B). Antwerp
(C). Paris

(D). Stockholm
(E).

E). London

Choose the correct answer from the options given below:
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Options :

68019125213. 1
68019125214. 2
68019125215. 3

68019125216. 4

Question Number : 54 Question Id : 6801916430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019125213. 1
68019125214. 2
68019125215. 3

68019125216. 4

Question Number : 55 Question Id : 6801916431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following balls used in the different sports as per the weight in descending order:

A). Handball Ball
). Cricket Ball

C). Tenmis Ball

D). Volleyball Ball

(
(B
(
(
(E). Basketball Ball

Choose the correct answer from the options given below:
Options :

68019125217. 1

68019125218. 2



68019125219. 3

68019125220. 4

Question Number : 55 Question Id : 6801916431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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(A). Eedrd §fa
(B). fehdhe T
(C). SHg dld

(D). lcii&ld dld
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el feu T fased] & © gel SR -
1. (C). (B). (D). (A). (E)

2. (B). (D). (C), (E). (A)
3.(B). (D). (C). (A). (E).
4. (C). (B). (D). (E). (A).
Options :
68019125217. 1
68019125218. 2
68019125219. 3

68019125220. 4

Question Number : 56 Question Id : 6801916432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements reflect the importance of play?

(A). Play 1s absolutely necessary for physical growth

(B). Play promotes social and moral development of child
(C). Play creates competitive spirit among children

(D). Play helps in talent identification

(E). Play infulences mental and emotional development

Choose the correcr answer trom the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B) and (E) only.
4. (A). (C) and (E) only.

Options:

68019125221. 1
68019125222. 2
68019125223.3
68019125224. 4

Question Number : 56 Question Id : 6801916432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B) and (E) only.
4. (A). (C) and (E) only.

Options :
68019125221. 1
68019125222. 2

68019125223. 3



68019125224. 4

Question Number : 57 Question Id : 6801916433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Imagery and stimulation are both psychological skill training techniques. Which of the following
statements are correct in relation to imagery and stimulation:

(A). Stimulation require greater resource of time and effort to set realistic situation during pratice
but in many ways it 1s superior to imagery as training techniques

(B). Imagery allows imdividual to practice mentally whereas stimulation attempts to create
circumstances of competition in practice

(C). Sitmulation training technique can only be given to athlete if they go through imagery
training at beginning

(D). Imagery helps the athlete in setting their daily goals and stay motivated during tough
training session

(E). Imagery technique 18 incomplete without following it up with stimulation technique

Choose the correct answer from the options given below:

(C) and (D) only.
(D) and (E) mﬂ'».
) and (C
) and

.(B).
AC),
A)

.(B) and (C) only.
A).

i EB and (D) only.
Options:
68019125225. 1
68019125226. 2
68019125227. 3

68019125228. 4

Question Number : 57 Question Id : 6801916433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019125225. 1
68019125226. 2
68019125227. 3

68019125228. 4

Question Number : 58 Question Id : 6801916434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sports and games have universal acceptance and acclaim, and makes them unchangeable part of
culture across the world. Choose the correct Legacies of games and sports from the following :

A). Outdoor sports - Australia culture
B). Martial arts - China and Japan

C). Gymnastics - Scandinavia and Rome
D). Badminton - England

(
(
(
(
(E). Yoga - India

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.

2.(B). (C) and (E) only.

3.(A). (C) and (D) only.

4.(A). (B) and (C) only.
Options :

68019125229. 1
68019125230. 2
68019125231. 3

68019125232. 4

Question Number : 58 Question Id : 6801916434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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3. (A), (C) 3R (D) Faq
4.(A). (B) 3R (C) Paa
Options :

68019125229. 1



68019125230. 2
68019125231. 3

68019125232. 4

Question Number : 59 Question Id : 6801916435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Our heart consists of various layers of muscles:

(A). Endocardium
(B). Mytibrils

(C). Myotilaments
(D). Epicardium
(E). Pericardium

Choose the correcr answer from the options given below:

1. (A). (B) and (C) only.
2. (B). (C) and (D) only.
.(C). (D) and (E) only:.
4. (A). (D) and (E) only.

Taa

Options :

68019125233, 1
68019125234. 2
68019125235. 3
68019125236. 4

Question Number : 59 Question Id : 6801916435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A). (B) 3R (C) Fad
2. (B). (C) 3R (D) Hhad
3.(C). (D) 3R (E) Padl
4. (A). (D) 3R (E) had

Options :

68019125233, 1
68019125234. 2
68019125235. 3
68019125236. 4

Question Number : 60 Question Id : 6801916436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct with respect to balanced diet?

(A). Food from all food groups should be added in diet

(B). Foods promoting absorption of certain nutrients and hindering absorption of nutrient should
be considered

(C). Non-nutritive foods are not beneficial and should be avoided from balance diet

(D). Food quality and proportion should be taken as per the mdividual need

(E). Balance diet should focus on energy giving foods and body building food groups only

Choose the correct answer from the options given below:

1. (A). (B) and (C) only.
2.(A). (B) and (D) only.
3.(A), (B) and (E) only.
4.(A). (C) and (E) only.

Options :
68019125237. 1



68019125238. 2
68019125239. 3
68019125240. 4

Question Number : 60 Question Id : 6801916436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tgferd SMER & Wdy & Hafiied ¥ § o 9 53 981 67

(A). FH! T 9g1 & HIoH 31 38R H FiTferd febar S gyl

(B). B UING Tcdl B TNV 1 SgTaT <1 AT S U el b SHasimoon H aret Syer
a’lﬁwwﬁﬁmw ERISIEIEIRY

(C). 3 W TaTd BRIGHE Tol 8d & 3R 976 Fqieid HTBR H AT ol Bl
?m%w

(D). HTSH 1 TUraell 3R U 1 Ui SATaRgadl & SR forl S F1fgu

(E). feid 31ER &1 $ad Fal 41 drel @1 gardf 3R IRR (070 &3 a1 91 9951 R
I Higd B ey

T4 fau e fadedl 3 € 98 S -
1. (A). (B) &R (C) Pad
2.(A). (B) 3R (D) %ad
3.(A). (B) 3R (E) %ad
4.(A). (C) 3R (B) Fad
Options :

68019125237. 1
68019125238. 2
68019125239. 3

68019125240. 4

Question Number : 61 Question Id : 6801916437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the long term effects of exercise on our body?

(A). Pulmonary diffusion increases
(B). Decreased Heart Rate

(C). Increased Resting Heart Rate
(D). Increased Blood Pressure

(E). Residual volume mcreases

Choose the correcr answer trom the options given below:

1. (A). (C) and (E) only.
2. (A). (B) and (C) only.
3. (B). (C) and (E) only.
4. (A). (B) and (E) only.

Options:

68019125241. 1
68019125242. 2
68019125243. 3
68019125244. 4

Question Number : 61 Question Id : 6801916437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFAafefad 5 ¥ o € 59R IRR IR o010 & Srydiierd UHd o2

(A). PprpEE famur Hgfs

(B). §ad X H PH!

(C). 3RM & &RM gad &) 1 gfg
(D). IF=9 ¥ gfes

(E). SaiR¥ OETH dfs
- feu e fowed! & 9 WEt S| T

1. (A). (C) 3R (E) Pad
2. (A). (B) 3R (C) Pad
3. (B). (C) 3R (E) ad
4. (A). (B) 3R (E) Bad

Options :
68019125241. 1

68019125242. 2



68019125243. 3

68019125244. 4

Question Number : 62 Question Id : 6801916438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Frictional forces oceur between two surfaces in contact when one slide or tend to slide over the
other. Which factors influence frictional forces-

A). Friction 1s large for material that strongly interact

B). Friction depends on surface quality and surface finish
C). Friction force depends on total surface area

D). Friction depends on the nature of two surface areas

(A)
(
(
(

Choose the correct answer from the options given below:
1. (A). (B) and (C) only.
2. (A). (B) and (E) only.

S | (E) mﬂx.

4. (D

) only.

B). (D) and (E
A). (B)and (D

Options :

68019125245 1
68019125246. 2
68019125247. 3

68019125248. 4

Question Number : 62 Question Id : 6801916438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



TS0 99 WY J &1 elgl b a9 a9 B1d § ofa U 8 U [thear 11 figer @l Wi el
%1 BIH 4 PR T G| Bl FHIISd B G,

(A). TGT ¥ TR foha1 S aret Yerdl & ferw eujur 3ifeies gier g1
(B). TNV Hefg o1 UTGl 3R Hef B1 Sffo Tl R R el g
(C). 901 991 el UcT! 8T W R Pl ¢

(D). TNUT &1 Helg §AG ! gl W R Gl 3|

A2 feu e fowredi 4 @ T SR T

Options :

68019125245 1
68019125246. 2
68019125247. 3

68019125248. 4

Question Number : 63 Question Id : 6801916439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the items of JCR Test Battery?
(A). Vertical jump

(B). Chin Ups

(C). Standing broad jump

(D). Push Ups

(E). Shuttle run

Choose the correct answer from the options given below:

1. (A). (B) and (C) only.
2. (A). (B) and (D) only:.
3. (A). (B) and (E) only.
4. (A). (C) and (E) only.

Options:

68019125249. 1
68019125250. 2
68019125251.3



68019125252. 4

Question Number : 63 Question Id : 6801916439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et & 9 o 9 oL 8L 3R e dedl 31 wiem e 82

(A). afcmd oY
(B). I a1

(). BfEm sz oy
(D). 4RI W1

(E). ”ed

A3 Ru T et 7 @ T SR

(A). (B) 3 (C) Pad
(A). (B) 3R (D) Hdd
(A). (B) 3R (E) Had
(A). (C) 3R (E) bdd

Options :

faa 2 —

=

68019125249. 1
68019125250. 2
68019125251. 3

68019125252. 4

Question Number : 64 Question Id : 6801916440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following grounds/stadiums are related to foot ball?
(A). Duler Stadium. Goa

(B). Guru Nanak Stadium. Ludhiana

(C). Narender Modi Stadium. Ahmedabad

(D). Kaloor Stadium, Kochi

(E). Birsa Munda Stadium. Jharkhand

Choose the correcr answer trom the options given below:

1. (B). (C) and (E) only.
2. (C). (D) and (E) only.
3.(A). (B) and (C) only
4. (A). (B) and (D) only.

Options :

68019125253 1
68019125254. 2
68019125255. 3

68019125256. 4

Question Number : 64 Question Id : 6801916440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad § 9 oF 3 feH/<fsun Teaa 3 9Eid g

(A). GOR KSH, a1

(B). T[® Ao WISaH, iUar
(C). % Hid] T f&uH. 3gHaIEg
(D). PR LiSTH, DI

(E). SRarger wisgy. sREs

3 g e e § 3 v SR

1. (B). (C) 3R (E) Faq
2. (C). (D) 3R (E) Bad
3. (A). (B) 3R (C) Pad
4. (A). (B) 3R (D) Fad

Options:

68019125253. 1
68019125254. 2
68019125255. 3



68019125256. 4

Question Number : 65 Question Id : 6801916441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following features are associated with the NEP20 with respect to higher education
in India.

(A). Choice Based Credit System (CBCS)

(B). Need to study in english medium only

(C). Academic Bank of Credit (ABC)

(D). No option to earn regular dual degree at same duration

(E). Alignment of credit system with foreign universities

Choose the correct answer from the options given below:

)and (C
Jand (D
Jand (

C)and (

) 011
) crni\
). on
)

onh

.(B
B). (C
C).(D B
A). ( E
Options :
68019125257. 1
68019125258. 2
68019125259. 3

68019125260. 4

Question Number : 65 Question Id : 6801916441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafared # 9 o di faAvarid yRd 3 5= a1 & 96y § g5 U1 20 A 9s1 82

(A). faed S{eTRe shige Humel (CBCS)

(B). Had Sl HIeOH § {0 B DI HITHdl &

(C). PGP & 3P Bl (ABC)

(D). U 31 990 R Fafia giedt foult eifcla axa o1 31 fowea 781
(E). facell fayfaeemil & T1y F507 Womel! &1 Tgul

A2 fe e et 3 @ o SR

1. (A). (B) 3R (C) Bad
2. (B). (C) 3R (D) Pad
3.(C), (D) 3R (E) ®dd
4. (A). (C) 3R (B) Hdd

—— e

Options :

68019125257. 1
68019125258. 2
68019125259. 3
68019125260. 4

Question Number : 66 Question Id : 6801916442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Pankration I. |An event combining running & wrestling
B. |Hoplitodromos | II. |A race where competitors ran in full armor
C. |Diaulos IT1. | A sprinting race of 400 meters
D. |Tethrippon I'V. |Four horse chariot race

Choose the correct answer from the options given below:

- (A) - (IV). (B) - (II). (C) - (II). (D) - (I)
. (A) - (I, (B) - (IV). (C) - (I). (D) - (II)
- (A) - (D). (B) - (I). (C) - (IV). (D) - (I1I)
4.(A) - (D). (B) - (D), (C) - (IID). (D) - (IV)

2

Taa

Options :
68019125261. 1

68019125262. 2



68019125263. 3
68019125264. 4

Question Number : 66 Question Id : 6801916442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 1 Y fHaE $ifern

g 1 T 1
BECRE] 1 |g1S 3R $2dl & T
gIufdergiad | 11 |U& Gl Sfel uidarfl R dad Halgd ¥

gy I11. |400 Hiex @I fEifdT 58
il V. [IR OIS B WU SIS

3 Ry e § & ol SR

(A) - (IV). (B) - (II1). (C) - (I1). (D) - (I)
(A) - (III). (B) - (IV). (C) - (I). (D) - (II)
. (A) - (II). (B) - (I). (C) - (IV). (D) - (IIT)
(A) - (I). (B) - (IT). (C) - (ITI). (D) - (IV)

RIEE

fag B2 —

e

Options :

68019125261. 1
68019125262. 2
68019125263. 3

68019125264. 4

Question Number : 67 Question Id : 6801916443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

A |Pragmatism L Reahr;r 1s shaped by human perception and
CONSCIOUSNEess

(2 9 1y e I Iﬁ’re_tcncal experience & consequences as criteria
for truth

G - 1L Exastence of an objective reality independent of
human perception

D |[Tdealistii v i_l:{:flrslnﬁc methods should be used to understand

Choose the correcr answer from the options given below:

(A)-(I). (B) - (III). (C) - (IV). (D) - (II)
. (A) - (D). (B) - (II). (C) - (IV). (D) - (I)
(A) - (D). (B) - (IV). (C) - (III). (D) - (I)
4. (A) - (I). (B) - (IV). (C) - (IIT). (D) - (II)

g b —

Options :

68019125265. 1
68019125266. 2
68019125267. 3

68019125268. 4

Question Number : 67 Question Id : 6801916443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



gt 151 gdt 11 ¥ [HaE $ifen

1 g 1

A |emaertzeaas| 1 %ﬁﬁwmwsﬁ?dwﬁwmuaﬁ

B. [uopfar I T & MG s & U H AdelRd AJHd 3R
C. [ourfare 1L Wﬁ HIRUT ¥} ¥cf U g aRefdane o1

; gﬁmﬁﬂ@ﬁ%ﬁﬁﬁ%ﬁﬁm
D. |3me=iaE IV Wﬂ?ﬁﬂ;’

3 fu e R § 3 o SR

1. (A) - (). (B) - (IIT). (C) - AV). (D) - (II)
2.(A) - (IT). (B) - (II). (C) - (IV). (D) - (I)
3. (A) - (D). (B) - (V). (C) - (III). (D) - (I)
4. (A) - (D). (B) - (IV). (C) - (IIT). (D) - (II)

Options :

68019125265. 1
68019125266. 2
68019125267. 3
68019125268. 4

Question Number : 68 Question Id : 6801916444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
n Transfer of I Practice of skill with a recovery and rest period
" |Learning " |between each attempt
B Practice I Refers to the amount & timing of feedback
" [Variablity " |provided during Skill acquisition
C Feedback I Abtlity to apply knowledge & Skills learned in
" |Frequency " |one context to another
D Distributed v Variations in pratice conditions to improve
" |Practice " |adaptability & generalization of skills

Choose the correct answer from the options given below:

. (A) - (III). (B) - (II). (C) - (IV). (D) - (I)
.(A) - (II). (B) - (IV). (C) - (II). (D) - (I)
(A) - (I). (B) - (IV). (C) - (II). (D) - (I1I)
4. (A) - (I). (B) - (I1). (C) - (IV). (D) - (III)

g b —

Options :

68019125269. 1
68019125270. 2
68019125271. 3

68019125272. 4

Question Number : 68 Question Id : 6801916444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



gt 151 gdt 11 ¥ [HaE $ifen

Gl =
5 [T @ ; |FS T & S G SR A S
B AL - @1 g
g |3 ;[P SRR BT srafel 7 ve ufagfe
 [ofad==iea [\ SR gy & Yefid dedi e
U Yo J U1 9 3R $I1d & gul Yoy

i s A o ST B &HdT

., |3 IPe &mdT IR S1E & gHETiSHI H
. [facifva speard | IV QYR & fae engry fRufqal & oikadd
- fau e fam el T 9§ 981 SR 9:

1. (A) - (II). (B) - (II). (C) - (IV). (D) - (I)
2. (A) - (II). (B) - (IV). (C) - (IT). (D) - (I)
3.(A) - (). (B) - (IV). (C) - (II). (D) - (III)
4. (A) - (D). (B) - (II). (C) - (IV). (D) - (IIT)

Options :

68019125269. 1
68019125270. 2
68019125271.3
68019125272. 4

Question Number : 69 Question Id : 6801916445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Alveoli I. |Gas Exchange
B. |Bronchioles II. |Passage for air to enter & leave the lungs
C. |Diaphragm III. |Eegulate air flow & distribution
D. |Trachea IV, |Muscle helps to expand & contract lungs

Choose the correct answer from the options given below:

L. (A) - (). (B) - (IV). (C) - (II). (D) - (IIT)
2. (A) - (T). (B) - (I). (C) - (III). (D) - (IV)
3.(A)-(1). (B) - (). (C) - (IV). (D) - (II)
4. (A) - (ID). (B) - (I). (C) - (II). (D) - (IV)



Options :

68019125273. 1
68019125274. 2
68019125275. 3

68019125276. 4

Question Number : 69 Question Id : 6801916445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 151 gt 11§ fhaH Sifon
T i
A | IR L [re et
B |safyert - ?ﬁﬁﬁﬂ%ﬂmﬁﬁﬁ@@%ﬂiﬁmmm
. [rEe "
< | I11. |91g FaTg R faeror fafraa=
A feu ¢ fdeedl § 9 Hel SR 9:

1. (A) - (1), (B) - (IV), (C) - (I), (D} - (III)
2. (A) - (D). (B) - (I1). (C) - (IIT), (D) - (IV)
3. (A) - (). (B) - (L), (C) - (IV). (D) - (II)
4. (A) - (II), (B) - (1). (C) - (TII), (D) - (TV)

Options :

68019125273. 1
68019125274. 2
68019125275. 3

68019125276. 4

Question Number : 70 Question Id : 6801916446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Vitamin-A I. |Absorption of iron
B. |Calcium II. |Important for vision
C. |Iron III. |Oxygen transport 1n blood
D. |Vitamin-C IV. |Bone health

Choose the correct answer from the options given below:

L. (A) - (IT). (B) - (IV). (C) - (III). (D) - (I)
2. (A) - (IT). (B) - (IV). (C) - (D). (D) - (III)
3.(A) - (IT). (B) - (II1). (C) - AV). (D) - (I)
4. (A) - (IT). (B) - (I). (C) - (II). (D) - (IV)

Options :

68019125277. 1
68019125278. 2
68019125279. 3
68019125280. 4

Question Number : 70 Question Id : 6801916446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gdt 11 9 [HaE $ifer
il I
A |[erfiaa 1. |dE P 3@Ee
B. [HfemH 1L [P & foru Agayf
C. [3mRA 111 |¥R H Hiawoq &1 aided
D. |[gerfda-dr |1V |offy Wy
e feu U foe el o 9 gl 3w -

1. (A) - (II). (B) - (IV). (C) - (II1). (D) - (I)
2. (A)-(II). (B) - (IV). (C) - (I). (D) - (III)
3. (A) - (II). (B) - (IIT). (C) - (IV). (D) - (I)
4. (A) - (I). (B) - (I). (C) - (III). (D) - (IV)

Options :

68019125277.1



68019125278. 2
68019125279. 3

68019125280. 4

Question Number : 71 Question Id : 6801916447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST1 LISTII
A | Mass I. |Resistance to change in motion
B. |Inemia II. |Rate of change of position
C. |Force ITI. |Mechanical Distribution or load
D. |Velocity IV, |Quantitative measures of inertia

Choose the correct answer from the options given below:

. (A) - (IV). (B) - (I). (C) - (III). (D) - (II)
. (A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
(A) - (1. (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (D). (B) - (AV). (C) - (I). (D) - (I)

fag b2 —

Options :

68019125281. 1
68019125282. 2
68019125283. 3

68019125284. 4

Question Number : 71 Question Id : 6801916447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



gt 151 gdt 11 ¥ [HaE $ifen

g 1 =
SodH

A 1. |71fa o ufiad= &1 ufaiy
B. (¥ 1. [Fufg aiada Bl e

C. |ad 111 |TifHep fador o1 YR

D. |[a7T IV. |9iad & HEES 9H
A= feu e fow el o 9 gl 3w -

L. (A) - (V). (B) - (I). (C) - (IIT). (D) - (II)
2. (A) - (I). (B) - (). (C) - (II). (D) - (IV)
3.(A)-(1). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019125281. 1
68019125282. 2
68019125283. 3

68019125284. 4

Question Number : 72 Question Id : 6801916448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A Eapetineai] [. |Studies relationship between variable
research
B. S By II. Invistigate cause and effect
Fesearch 5
Longitudinal Collect data from same subjects repeatedly
£ I1I. :
Research over an extended period
D. CGHEI_MIDH IV. |Examine behavior, event etc in-depth
Research

Choose the correct answer from the options given below:

(A) - (I). (B) - (IIT). (C) - (IV). (D) - (1)
. (A) - (). (B) - (IV). (C) - (IIT). (D) - (II)
. (A) - (IT). (B) - (IIT). (C) - (IV). (D) - (I)
- (A) - (D). (B) - (IV). (C) - (II). (D) - (I)

fag b2 —

i

Options :



68019125285. 1
68019125286. 2
68019125287. 3

68019125288. 4

Question Number : 72 Question Id : 6801916448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g 151 11 ¥ A $ifeg
g1 qE I

A (Umifiie sEee L [=Ri o dia Sdy @1 siemg &3

0T TG
B e 1L |BRUT 3R UHTd BT ol T
C. [srgge sy 111 | f9dl § SRR g THs B
D. ey s i ﬂw&wﬁmﬂ%ﬂm
-9 fau Y f[d@ e O 9 981 SR I:

- (A) - (I). (B) - (IIT). (C) - (IV). (D) - (II)
(A) - (I). (B) - (IV), (C) - (IT). (D) - (II)
. (A) - (ID). (B) - (ITT). (C) - (IV). (D) - (I)
- (A) - (D). (B) - IV). (C) - (II). (D) - (I)

|

e g

Options :

68019125285. 1
68019125286. 2
68019125287. 3

68019125288. 4

Question Number : 73 Question Id : 6801916449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1 LISTII

Ensure the test measurs what 1t intends to

A |Validity L ;
i measure consistently
B. |Beliability II. |The test treats all examinees equally
. — Consistency of test results when administrated
C. |Objectivity I1. -
2 repeatedly
D. |Fairness IV, | The test 1s free from personal bias or influence

Choose the correct answer from the options given below:

1. (A) - dII). (B) - (I). (C) - AV). (D) - (II)
2. (A) - (IT). (B) - (IV). (C) - (D). (D) - (II)
3.(A) - (1). (B) - (). (C) - (II). (D) - (IV)
4. (A) - (D). (B) - (ID). (C) - (AV). (D) - (II)

Options :

68019125289. 1
68019125290. 2
68019125291. 3
68019125292. 4

Question Number : 73 Question Id : 6801916449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (ITI). (B) = (I). (C) - (IV). (D) - (II)
2. (A)-(II), (B) - IV), (C) - (1), (D) - (IIT)
3. (A) - (I), (B) - (II1). (C) - (II), (D) - (IV)
4. (A} - (1), (B) - (IT), (C) - (IV), (D) - (1)

Options :



68019125289. 1
68019125290. 2
68019125291. 3

68019125292. 4

Question Number : 74 Question Id : 6801916450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Asian Games Tokyvo I J1938
B. |Asian Games Jakarta IT. |1998
C. |Asian Games Guangzhou | III. |1962
D. |Asian Games Bangkok IV, 12010

Choose the correct answer from the options given below:

- (A) - (IV). (B) - I). (C) - (I). (D) - (III)
. (A) - (I). (B) - (IIT). (C) - (IV). (D) - (II)
- (A) - (D). (B) - (). (C) - (IV). (D) - (I1I)
(A) - (D). (B) - IV). (C) - (II). (D) - (I)
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Options :

68019125293, 1
68019125294, 2
68019125295. 3

68019125296. 4

Question Number : 74 Question Id : 6801916450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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L. (A) - (V). (B) - (I). (C) - (I). (D) - (IIT)
2. (A) - (I). (B) - (). (C) - (IV). (D) - (II)
3.(A)-(1I). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV). (C) - (II). (D) - (I)
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Options :

68019125293. 1
68019125294. 2
68019125295. 3

68019125296. 4

Question Number : 75 Question Id : 6801916451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST II
A JAAT I. |Football
B. |AIEF II. |Archery
C. JAFI I1I. |Badminton
D |IBAI IV, |Athletics

Choose the correct answer from the options given below:

1. (A) - V). (B) - (I). (C) - (I). (D) - (III)
2. (A) - (IT). (B) - (IV). (C) - (D). (D) - (II)
3.(A) - (II). (B) - (1). (C) - (IV). (D) - (IIT)
4. (A) - (IV). (B) - (I). (C) - (I). (D) - (III)

Options :
68019125297. 1

68019125298. 2



68019125299. 3

68019125300. 4

Question Number : 75 Question Id : 6801916451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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- (A) - (IV). (B) - (I). (C) - (I). (D) - (III)
. (A) - (D). (B) - IV). (C) - (I). (D) - (III)
. (A) - (D). (B) - (I). (C) - (IV). (D) - (I1I)
- (A) - (IV). (B) - (1), (C) - 1), (D) - (I1I)
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Options :

68019125297. 1
68019125298. 2
68019125299. 3

68019125300. 4



